DRILL CHART This Cap Needs to press fit This Cop Needs to press fit
35" [ [pmra_ T hside o6 ?F; P RAC" Tolee Inside of o 4°x4"x1/4" Tuke BILL OF MATERIAL ¢621.72) WW-1 & WW-2 (EACH)
T [1'-3 1/4" r (18”4, .
o , 11.. | 5 = 1 Mo = ri 4 —‘I aTyY DESCRIPTION ASTM DESIGNATION
POS 1~4 $ e e o :' 1§ l == 1 [THRIE BEAM TERMINAL CONNECTION <10 Go AASHTO M180
1 N pyrgm L oj 1_|THRIE BEAM TRANSITION € 7'-3 1/2” (10 G AASHTO M180
15 — 6 3/8" | aflr & ”/—‘"’5 ane ﬂ 1_|CONNECTION PLATE 36— M7 10 GL 3k
:l & |, I]/—vmm ﬂ 33 2 |12’ 6" THRIE BEAM <12Ga) AASHTO M180
I m 7y 8 I 4_|WéXa5 POST e 8'-0° (PUNCHING VARIES — POST 1~4) AS72_Gr. 50
1 P || P a4 — 1_|DEFLECTOR PLATE (APPROACH OR TRAILING) A36
52" f I I - 1_[8" X 4 X 5/16" RAIL @ 9'-4° AS00 Gr. B
2 Punch /2% I the 1_[4° X 4" X 174" RAIL @ 9-4" AS00 Gr. B
g | 1_[8” X 4 X 1/4° END CAP A36
=
<P | P ae : i i 1|47 X 4 X 1/4” END CAP A36
R e o 1_|7” x 3" x 3/8° SPLICE TUBE @ I’ 1l 3/4" AS00 Gr. B
Il BV 1_[|3" x 3 x 5/16” SPLICE TUBE € I’ i1 3/4’ AS00 Gr. B
nn Loy ¥ l 8 |? 3/4’ SCH. 40 PIPE @ 1/2° AS3
.3e 8 |? 5/8" X 1 3/4° HEX BOLTS A307
PER CHART I 1, 51%_. n .I i+ |8 [0 5/8” FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307
Il 1'5 i j 7 |# 3747 X 6° CARRIAGE BOLT, & NUT A307
g r TYP & — L 1 |# 3/4” X 2’ CARRIAGE BOLT, & NUT A307
| ( 511 1L ]" 19 |¢ 578" X 1'-6” BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT__ |A307, A36, F844 or 307, & A563
Il €7 H el e g ] 32 |# 5/8” X 1 174" BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. A307
3 J |
15" I f i 19 [3/16” SPEC. PLATE WASHER @ 1 374" X 3’ A36
8 — |]_ .Ver Agency of Transportation 16 |# 374 X 6" ROUND HEAD BOLT, F.W., LOCK W. & NUT A449, F436, ASME Big.2l1, & AS63
(TYP.) ‘ 10_[6 X 8* wWoOD POST € 7'-0° TIMBER
I ®13.. RECEIVED 9 |6 X 8’ wWOOD BLOCKOUTS @ 16 TIMBER
8-0" W 6)(85// Jj 16 ON: 1_[6 X 8 wWoOD BLOCKOUTS @ 1'-a” TIMBER
= " FOR <] —L ON: May 19, 2014 10 _|¢ 7/8° POST BOLT @ 187, F.W. & NUT F568, F436, AS63
1 — GALV. Ly and Checked for - ___
| e \q} CONFORMANCE HARDWARE APPLICATION
| i BY: Jennifer Fitch DATE| @p{0p/2014 DESCRIPTION ASTM DESIGNATION APPLICATION
A | 8 |#5/8 X 13/4" HEX BOLTS A307 USED IN SPLICE TUBES
| CONNECTION PLATE DETAIL B | 8 |0 5/8" FLAT VASHER, HARDENED, TYPE A, PLAIN WIDE A307 FOR SPLICE TUBES,
ez : C | 7 | 374" X 6’ CARRIAGE BOLT, & NUT A307 TERM, CONN, & CONN., PLATE T0 RAIL
3, _] D | 1 |@ 3/4° X 2 CARRIAGE BOLT, & NUT A307 DEFLECTOR PLATE TO CONN. PLATE
g 23" E | 19 |# 5/8 X 1'-6’ BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, FB844 or A307, & A563 [THRIE BEAM, TO OFFSET BLOCK, TO 6x8° POST
- 113" F | 32 |# 5/8° X 1 1/4° BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.W. 7307 FASTEN PANEL COMPONENTS TOGETHER, CTHRIE, TERMINAL CONNECTOR, TRANSITION SECTIOND
' il G | 19 [3/16" (SPECIAL) PLATE WASHER @ 1 3/4" X 3' A36 USED IN PANEL VALLEY, W/ 18" BOLT
"3‘7 ] H | 16 |# 3/4" X 6’ ROUND HEAD BOLT, FL. WASHER, LOCK W. & NUT A449, F436, ASME BI8.2L1, & AS63|FASTEN 4X4 & 4X8 RAIL TO RAIL POST 1~4
2 — Q" e —] 33" f—
11’ CL]PPED CORNER 4
Y ts Prevaili ing Torgque 12~ - EXPANSION SPLICE FOR: TS4x4x1/4"
] O H X4X
313.. 23 61'6 Type Lock Nudt TYPE A WIDE PLAIN WASHER ©.824 (REF)
10.. ]———q} & & & s/ (18/16" x 2" x 5/32") $5/8° TAPPED HOLE (@x
3 1/8" 11/2 1,050 RE ¢ 3/4 /234 TS3x3x5/16
14130 - & " = X3 *
13" $ 116 == 1/8 3/4" SCH. 40 PIPE SPACER }K~~MT_I__X——_7— |——[/
[}
A $ _$_ _—l psioply s e .’——-—l—-—v— h o ~— - ——f _4._
v Vqu T | ™
158 184" ., —|[—3/6" MIN. o} il =
1/8" Corfiem e 153
7\ A 449 (TYPE1 ONLY FULL DIA. BOLTS : ASTH #58 1"93' AS00 Gr. B
3"x6* CLIPPED CORNER \—,@1“ (9%) \ 22 24 ROUND HEAD BOLT VILL BE ALLOWED L 1,_11%
4 1 3
312 8 TEF- } F" E 5/8* NUT(@ OUTER HOLES ONLY)
127, 003390055 TACK WELD
{T
[6 /
/ ) O l ,1' @7 oereL-LTxT = LA | =
3 12 1
EXPANSION SPLICE FOR: TS8x4x5/16” ] A XL e st __,;,__i_.__._...__qgj i
- d— e
i = : TS7x3x3/8* DEFLECTOR PLATE DETAIL DRAWINGS ARE FOR COMPONENTS,
t APPROACH SHOWN, TRAILING-OPPOSITE BEND
Q > AASEMBLE PER STANDARD S-360B
S o e e L SHOP DRAWING REVIEW =7
| wmr — |
ADD THESE ’E 3‘1'2 I—' [0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCLIMEH'"l l'EM ST .QUNLY FQR SHEET OF
> 91" HOLES =5 — [ n ) R s R |- AT RO ¢ RAIL BRIDGE RAIL TO GUARDRAIL TRANSITION
e 16 1 —93 AS00 | O Resecrys, %swss AND RESUBMIT 3 urNisH As correcTeD ROCHESTER, BRF 0162 (18) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 19, OVER WHITE RIVER
- i- i | { 1"'11%' H ¥ correcTitnds OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REJIEW DO NOT RELIEVE CONTRACTOR TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT
; e s || [FFO_ D] GESCRIVEN BY] R [NO.] DATE [ _DESCRIPTION [BY
4] { INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND E E
AN [t St At ‘g/g'_NG"l’(—é‘_DLFr’E_"Q’_‘ = ey CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION] PROCESSES AND TECHNIQUES OF v v
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES AND PERFORMING HIS WORK IN A = X
HOLES ONLY) SAFEANDSATISFAC[ORVMANN(ZR. ‘ ! e “ ""L CERTIFIED DRAWN EP. 56l
) = ELDERLEE,INC. SUpY2)<raericaror)l CHECKED | DL, 5/16/14
TACK WELD JobNumber:___§ 2.5 /7 N APPROVED
0AKS CORNERS, NEW YORK 14578 : :
MODIFICATION TO P/N 5143.40056 A B . VHDB | N Gane & MaltdtongDeldeiee.com SCALE | SCHEMATIC
TO CREATE P/N 5143.90056 + y ¥ e (—30—/2 Tel:815-789-6670 Fax:315-789-6615 DRAWING NO. F.RL ROCHESTER, TR19



jfitch
CheckForConformanceFields


rvw%ﬂYP)>
126" T 63 (TYP)
£3/4" x 2 1/2" SLOT 16x) o || 4 2w
(@) // (@) (@) (@]
| (@) f (@) O (@)
T ————(—z{— ————— —e=s>—-——-——-= — g —-——-——= —_— =_-——-—- —_— = —— —co— -
5 Q o o o
7§ (@) O O (@]
- ey ——————— —e - — - ——— — e ——-———-——~- — e et 5 ———————= — s —— ——  —— — ——— =
| @) o @) @) Vermont Agency of Transportat_ion
e o o o RECEIVED
ON:  May 19, 2014
6-8'(TYP) and Checked for
13-63" CON FORMANCE
v v BY: Jennifer Fitch DATE: 06/02/2014
89/38@2)(1) g Lot WW 1, 2, & 4 — STRAIGHT, WW 3 — SHOP CURVE 34'-6" CONVEX RAD,
9!_4"
g r
4 =
'\\'/ ] n <
3 4n v 7'-8— Y
9 <_'>Q_ 4___5!_9_" %
—7"-11" N A4, =
4 Y 103" — 56+ =
1 O_" 7!_8__" Q_?\ 4 a(ﬁ
4_ 4_ A SHOP DRAWING REVIEW _{y_7z¢ -
i 92" e e || 67 s
6_ " 5 ' 6Z " z:i:z:s OR COMMENTS MADE ON r:EEv:o:NnDnz:l::Zunme THIS RE:E::IJ ::)IS:O:S:EOLT:VEEUC::HRACIDR 2__ n_| 4 3 "_|
4 o e e e Sy S A 4 -1'-5% 4 1,
e ) 7 n"n INFORMATION GIVEN IN THE CONTRACT DOCUMEH-TS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND L
: 3 4 ' o “aﬂ“M“”“C’QA s e MR " @13/16" THRU (8) | 4"-21n | 4 .
ZZ 1] 3 4 PR T Y d 4 [ / | 4 "4
4 VHB .jar—_ﬁ.i‘O,;?‘:’M ' i \ : 4 —— ::. i
159 | ‘ o) \@1" THRU (3X) TATHREN, eV
0 13/16" THRU 4 Consider 7, (D1 1/8"(1/16 /-0") x 3 1/2" (2X) 2 3.1
o) R o - BOTTOM ONLY | T°2
1 én l 4 i"_.._ -2" | — et 'E::]
[ e S o ettt Y e e ———1 16 1 5" g 2"J o e s DRAIN HOLE. J1 VA
‘ - - —-— —T 1 L 9 BOTTOM ONLY 8

Considecr %"

8
@1 1/8")+1/16/ -0") x 3 1/2" (2X)

@1" THRU (4X)

BOTTOM ONLY

_2u

—ADD PRESS FIT END CAP

THIS END

\;51/2" DRAIN HOLE

BOTTOM ONLY

ONLY

3_2_"

WW 1 & (4) Has acndivs

—ADD
THIS

ITEM #: 621.72

PRESS FIT END CAP
END ONLY

WW 1 & @Has & cading

| SHEET 2 OF 4

APPROVED BY:

2 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION

ROCHESTER, BRF 0162 (18) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 19, OVER WHITE RIVER
TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT

R|NO. | DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION BY|
E E
\4 v
; MNocerTEEDIPRAWN | EP. [ s/t6ri4
ELDERLFEFE,INC. \U]J3)/<rFABRicATOR|| CHECKED [ DL 5/16/14
&Y O0AKS CORNERS, NEW YORK 14578 APPROVED | . :
E—Mail: dlong@elderlee.com SCALE | SCHEMATIC
Tel:315—789-6670 Fax:315—-789-6615 DRAWING NO. F.AL. ROCHESTER, TR19



jfitch
CheckForConformanceFields


BILL OF MATERIAL <621.72) WW-3
@ty DESCRIPTION ASTM DESIGNATION
1_|THRIE BEAM TERMINAL CONNECTION <10 Ga) AASHTO MIS0
1_[|THRIE BEAM TRANSITION € 7'-3 1/2° (10 Ga) AASHTO M180
1 _|CONNECTION PLATE A36
2 [12” 6" THRIE BEAM (12Ga) W/ 34’-6° RAD. AASHTO M180 WW 3 - SHOP CURVE 34’-6” CONVEX RAD, ON FACE OF RAIL.
2 |WeXa5 POST @ 8-0° (PUNCHING VARIES - POST 1~4) AS72 Gr. 50
, 1 |DEFLECTOR PLATE (APPROACH OR TRAILING) A36
Vermont Agency of Transportation 1 8" X 4 X 5/16° RAIL © 9-4° W/ 34-6’ RAD. AS500 Gr. B
1 |4 X 4" X 1/4” RAIL @ 9'-4" I/ 34'-6’ RAD, AS00 Gr. B
RECEIVED T [ X 4 X /& END-CAF 356
ON 1 _[4° X 4" X 1/4’ END CAP A36 [ '—l_——-— ___? R N A B e
: 1_|7” x 3" x 378" SPLICE TUBE e I’ 1l 3/4° AS00 Gr. B ______f ] R s de____ _____ f e, . aa i\]’____'_:::_
May 19' 2014 1 |3 x 3 x 5/16” SPLICE TUBE @ 1’ Il 3/4° AS00 Gr. B L "#"—"— ST ?‘ Tl L T PR
and Checked for 8 |9 3/4° SCH. 40 PIPE @ 1/2’ A53 . T‘l ' —T" | "[’1 I"' ?
8 |9 5/8° X 1 3/4° HEX BOLTS A307 i TN ' -
CON FORM AN CE 8 | 578" FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307 | | | | [ | |
7 |# 3/4° X 6 CARRIAGE BOLT, & NUT 4307 EL y : e
. ; i . 1 | 374° X 2" CARRIAGE BOLT, & NUT A307 |___. s e A =1 L?_ ....... _@ =T L .___.iﬂ_
BY: Jennifer Fitch DATE: 06/02/2014 19 | 5/8° X =6 BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A36, F844 or 307, & AS63 — ,?4“?_ % | ! L? w% }
38 |# 5/8° X 1 1/4” BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.V. A307
19 |3/16° SPEC. PLATE WASHER € I 3/4° X 3' A36
16 |9 3/4° X 6° ROUND HEAD BOLT, F.W., LOCK W. & NUT 3445, 436, ASME BIS.2L1, & AS63
10 |6 X 8 wOOD POST @ 7/-0° TIMBER
9 |6 X 8 wOOD BLOCKOUTS e 1'-6* TIMBER
1 _[6 X 8 wOOD BLOCKOUTS @ 1'-2” TIMBER
10 |@ 7/8’ POST BOLT € 18°, F.W. & NUT FS68, F436, A563

9!_4"
= 7'-115"—
A% < 4
Q_V\ 9'—4" (04 7"81"
X 5 [gzzses: o .3 4
> wn (g uwg
& Y " SN L % 5'91—
X 7-1157"— IR HHHT 3 ’
Q_ 4 g3 §lgzgzeé o 5"6—"
X g oo |z R feEii Q 107"
— < S a weE8 o s
v 4 107" ([E) 2 feeiie & 3730
' 3!! ﬁ 0 Y 4 A3
°-9, 3 AR HTHE g1 %4
Qs gz m W e g R - —
e 6" ofefi | ik 4 3
5‘6"‘ 4 Z|EEcz1855%82 I A . T D2
4 = 5223|8085 QT —1'-5%" 4
QI 7 S HIH HEH XN 4
4 ~AERLE| e e | I .
31 g —-2=" S HIYHHT N Z"———1'-21'~ @13/16" THRU (8X)
4 4 o |88 558l |55 ] 4 || \
Tgr |2EEzig|f 3 3 - L
' " % oz §g§:§§§§_§§ 4" ——t M T
" 8og E8ZEEZ] s = ;
. 15 Blid [eisiis—| 4" v Corsidec %8 @1" THRU (3X)/ 2"
" e g2 52;“_,”5
4 ©13/16 b8 lsiiciis| N9 3lu__ 2 (+1/16 /-0") x 3 1/2" (2X)
oSN olex292F S
5. 1-24"% THRU, (8X) 5 SHH B EHEE 2 BOTTOM ONLY o
L 2 =R 4 L% S EH LEHUHEN (7 = = —

|
T | 116 — 31 ——— — : L8 17..I_ 012’ DRANHOLE — ol Lo
A — e ; A sfm,jh 7‘1\A BOTTOM ONLY

" RU (4X .0 MWA44G- CONVEX RATD, ADD PRESS FIT END CAP—
71n COnSlO}Q(‘ ®1 TH U ( ) 16 \A/\A/ 3 — Has a radins

THIS END ONLY
1 " 2 Q‘* " 1"
33" (£ ]l@+1/16/ -0") x 3 1/2" (2X) ITEM #: 621.72 [ sHEET B OF 4
21| ~ o TOMONLY AePROVEDBY 2 RALL BRIOGE RAL, 70 CURRORAT, TRAVSTION

ROCHESTER, BRF 0162 (18) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 19, OVER WHITE RIVER

m '—GEBEB{"K_\L —————— . '''''''''' ='—,’_'.'/}/: : TOWN OF ROCHESTER, COUNTY OF WINDSOR, VT
1 1Z||L @1/2" DRAIN HOLE " 2"-' . | DATE] DESCRIPTION BY sé NO.] DATE | DESCRIPTION _[BY
BOTTOM ONLY T 2k y

U CERTIFIED] DRAWN E.P. 5/16/14

ELDERLEE, INC. 1_%‘ ) FARICATOR | CHECKED | DL, 5/16/14

\{‘S‘fngh?"‘ 8
wW 8 - )S;’Lﬁf—g/ CDN\/EX RAD' ADD PRESS FIT END CAP— 0AKS CORNERS, NEW YORK 14518 APPROVED

\/\/\/\/ 3 — Has a Ra rJz'us THIS END ONLY v E—Mail: dlong@elderlee. com. SCALE | SCHEWATIC

Tel:315—-789—~6670 Fax:815-789-6615 DRAWING NO. F.R.L. ROCHESTER, TR19



jfitch
CheckForConformanceFields


BILL OF MATERIAL <621.72) WW-4

ary DESCRIPTION ASTM DESIGNATION
1_|THRIE BEAM TERMINAL CONNECTION <10 Go AASHTO_MI80
1_|THRIE BEAM TRANSITION € 7'-3 1/2" (10 Ga) AASHTO MI80
1_[CONNECTION PLATE e Straid bt A36
2 |12’ 6’ THRIE BEAM (12Go) W/ PARTIAL( 8'-10' RAD, ) J AASHTO M180
—F—|REUNDEB—VE—BEAM~END-SEGTION AASHTO M180
4_|WeXe5 POST @ 8'-0" (PUNCHING VARIES - POST 1~4) AS72 Gr. 50
1_[DEFLECTOR PLATE (APPROACH OR TRAILING A36
1 _[8” X 4° X 5/16” RAIL € 9'-4" W/ 15' RAD, AS00 Gr. B
1 [4” X 4" X 1/4" RAIL @ 9'-4’ W/ 15’ RAD. AS00 Gr. B
1 [8” X 4” X 1/4" END CAP A36
1_[4” X 4" X _1/4” END CAP A36
1 [7” x 3 x 3/8 SPLICE TUBE @ I’ 1l 3/4" AS00 Gr. B
1_[3" x 3" x 5/16" SPLICE TUBE € 1’ 11 3/4" AS00 Gr. B
8 |0 3/4" SCH. 40 PIPE @ 1/2’ AS3
8 |# 5/8” X 1 3/4" HEX BOLTS A307
8 _|# 5/8” FLAT WASHER, HARDENED, TYPE A, PLAIN WIDE A307
7 |7 374 X 6’ CARRIAGE BOLT, & NUT A307
1_|¢ 3/4° X 2° CARRIAGE BOLT, & NUT A307
19 [# 5/8° X 1'-6’ BUTTON HEAD POST BOLT, PLATE WASHER, F.W. & NUT _ |A307, A6, F844 or 307, & AS63
36 _|# 5/8 X 1 1/4” BUTTON HEAD SPLICE BOLT, RECESSED NUT & F.V. A307
15_[3/16" SPEC. PLATE WASHER € 1 3/4" X 3 A36
16 | 3/4° X 6 ROUND HEAD BOLT, F.W. LOCK W. & NUT A449, F436, ASME BI8.2L1, & AS63
10_[6 X 8 WOOD POST @ 70 TIMBER
9 |6 X 8 WOOD BLOCKOUTS € 1-6” TIMBER
1 |6 X 8 wWOOD BLOCKOUTS e {'-2” TIMBER
10_|¢ 778 POST BOLT € 187, F.W. & NUT F568, F436, AS63

Vermont Agency of Transportation

Rochestor R BRF 0162(18) Aproach Rall (% and ) et

RECEIVED

ON:  May 19, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/02/2014

DETAIL SHOWING PIE CUT LOCATIONS @ WW 4,
FOR 15'-0" CONVEX RAD. ON FACE OF RAIL.

1108 2"
WPS 3003 <TYP>

157 116" 1-6" 10—

_—:::i_:ﬁhd:_:_—_‘_—_‘_—_‘Tj‘t;IT_:_—_'_—_':_'_'_—__%d:'__—_‘_:_::%d:f_“.—:
|

ITEM #: 621.72

EKFansfor\ S"plice_ Detail

foc cueved sections 7

SHOP DRAWING REVIEW

[0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE COSSTRUCI'IOH CONTRACT DOCUMENTS.

O REJECTED EVISE AND RESUBMIT [ FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

Job Number: f7f/5

VHB |ooin " rome

Date: S-30-/4

| SHEET 4 oF 4

APPROVED BY:

4 RAIL BRIDGE RAIL T0 GUARDRAIL TRANSITION

ROCHESTER, BRF 0162 (18) VT RTE 73 (MAJOR COLLECTOR), BRIDGE NO : 19, OVER WHITE RIVER

TOWN OF ROCGHESTER, GOUNTY OF WINDSOR, VT

<MmX

NO, | DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION

BY

E

v

5/16/14

D.L.

5/16/14

AT DRAWN
ELDERLEE,INC. .@ CHEGKED

QY 0AKS CORNERS, NEW YORK 14578 APPROVED

SCALE | SCHEMATIC

E-Mail: dlong@clderlee.com

Tel:315—789—6670 Fax:315-789-6615 DRAWING NO. FR.L. ROCHESTER, TR19



jfitch
CheckForConformanceFields


WELDING PROCEDURE SPECIFICATION

Vermont Agency of Transportation

RECEIVED

ON:  May 19, 2014

and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 06/02/2014

SHOP DRAWING REVIEW

[0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED XREVSE AND RESUBMIT [ FURNISH AS CORRECTED

~ PQR ELDERLEE#3
Material Specification A500 GR B
Welding Process FCAW
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT / HORIZONTAL
Filler Metal Specification A5.20 - 95
Filler Metal Classification E81T-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
' WELDING PROCEDURE .
Pass Electrode o T Travel Joint detail
no. size Amperes Volts speed :
1/16 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

T

kX

SEQUENCE 0OF WELD PASSES SHALL
BE SHOWN DIAGRAMATICALLY

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

Job Number:__S" 287/ 7

VHB |e 2 e

Dats: 5-30‘/4/

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

- Procedure No.

Revision No.

Form {11-2

3003

Contractor Elderlee, Inc.
Authorized By RANDY SCOTT
Date 5/8/2014



jfitch
CheckForConformanceFields


